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— 28 AEZ 4603 x34,000m =122 187,680
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216-01 33030l Xt == 25,000 7,000 18,000




09 i 0

200 Al2l=+=¢

210 &AM 2

216 Ol At ==&

g
oo
Jo

AkoH

[e]
==

& & Off &t

< aote=T A 25,000 7,000 18,000
O330= 0 25,000,000 25,000
230 N SHHMA - 100,000 150,000 250,000
236 RE= 100,000 150,000 A50,000
236-01 2 100,000 150,000 250,000
< &5t A 100,000 150,000 /50,000
OZelXt 100,000, 000& 100,000
2SS 3,000,000 2,215,000 785,000
0 2d=8S 3,000,000 2,215,000 785,000
711 A= 3,000,000 2,215,000 785,000
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< &6t A 3,000,000 2,215,000 785,000
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